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Multiplication (Vertical) Name:
Solve each problem. Answers
) 3,871 2 3,140 3 5,898 4 5513 X
X 8 X 6 X 2 X 8 '
2.
3.
4.
5 7,773 6) 5545 ) 5,619 8 7,737 i
X 8 X 4 X 8 X 3 '
6.
7.
8.
9 8,487 100  g,982 11) 8,833 12) 1,913 .
X 3 X 8 X 7 X 7 '
10.
11.
12.
3 2641 14) 7,658 15 4,818 16) 1,208 .
X 6 X 8 X 8 X 4 '
14,
15.
16.
1) 5841 18) 8017 19 7,224 20) 3,388 .
X 9 X 8 X 4 X 2 .
18.
19.
20.
1-10 195(90(85|80| 7570|6560 |55 |50
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Multiplication (Vertical) Name: Answer Key
Solve each problem. Answers
1 2 3 4
) 3,871 ) 3,140 ) 5,898 ) 5,513 . 30,968
X 8 X 6 X 2 X 8
30,968 18,840 11,796 44,104 , 18,840
s 11,796
4. 44,104
5 6 7 8
) 7,773 ) 5,545 ) 5,619 ) 7,737 . 62184
X 8 X 4 X 8 X 3
62,184 22.180 44,952 23,211 6 22,180
. 44,952
s 23211
9 10 11 12
) 8,487 ) 8,082 ) 8,833 ) 1,913 o 25461
X 3 X 8 X 7 X 7
25,461 71,856 61,831 13,391 0. 71,856
11 61,831
2 13,391
13 14 15 16
) 2,641 ) 7,658 ) 4,818 ) 1,208 s 15846
X 6 X 8 X 8 X 4
15,846 61,264 38,544 4,832 s 61,264
15, 38,544
16. 4.832
17 18 19 20
) 5,841 ) 8,017 ) 7,224 ) 3,388 7. 52,569
X 9 X 8 X 4 X 2
52,569 64,136 28,896 6,776 18, 64,136
9. 28,896
0 6,776

[ M ath ] www.CommonCoreSheets.com

1-10 | 95| 90

85

80

75

70| 65]60|55|50

11-20(45] 40

35

30

25

20115101 5{ 0




	Worksheet
	Answer Key

